Questions from Homework
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Functions Toolkit 1

1. Factor Completely
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when X=2 = (x=3) 1s afactor

2. For the following: y = x* - x* - 14x +§1l.|
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a) Use e Factor Theorem to factor the function. 'FM‘ @ Vd\u OF ‘x
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b) State the Roofs of the function

¢) Find the y intercept
d) State the approximate Local Maximim (No TI-83)

¢) State the approximate Local Minimum (Vo TI-83)

f) Sketch the function EENEEEEYS EEEEN REEE
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3. Solve the following inequality and express your answer using Inferval

Notation »* - 9x<x* -9 / Wc d¢s ““.s &n&\m
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